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Sentence Jumbles Questions Overview

Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Sentence Jumbles Questions.

Question

Rearrange the following sentences to form a correct passage. The crushing 85-run loss to Australia in Sunday’s final did
highlight a few weaknesses: the batting came undone in a high-pressure chase, while the fielding and the running between
wickets were mostly pedestrian. That it secured a place in the title decider following a rained-out semifinal against England
should not be held against it. India’s campaign in the ICC Women'’s T20 World Cup may have ended on a disappointing
note but it was not without positives. But Harmanpreet Kaur’s unit became the first Indian women'’s team to make it to the
T20 World Cup final, a fine achievement in itself.

Difficulty : Moderate Average Time: 56 Seconds

Options :
1. BDAC

2. CADB
3. DBCA

4. ABCD

Solution

The correct answer is option 2, i.e. CADB.

1. Sentence C introduces us to India’s ICC Women’s T20 World Cup. The rest of the sentences do not introduce but
rather talk about the specifications of the tournament, so the rest cannot appear at the beginning.

2. Sentence A adds more to the information provided by the first sentence so it will follow as the second statement.

3. Sentence D will appear as the third because it adds more meaning specifically to the second statement, with a
conjunction ‘but’ and the mention of Harmanpreet Kaur’'s performance. This statement cannot appear in the second
sentence as the meaning provided by sentence A will then get somewhat confusing.

4. Sentence B will end as the final sentence because it mentions the outcome of the players/performance and where
India’s place stands after the concerned match. Placing it ahead already provides the conclusion, thereafter
restricting the other sentences from providing a conclusive point at the end.
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This is the correct arrangement as it provides a sequential understanding of how the tournament went and at what place
India finally reached, thus creating complete meaning in the passage.
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